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SOCIAL SCIENCE
lkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKkulkekftd foKku

Time allowed : 3 hours Maximum Marks: 80

fu/kkZfjr le; % 3 ?k.Vs vf/kdre vad % 80

General Instructions :

(i) Answer to questions carrying 2 marks should not exceed 30 words each.

(ii) Answer to questions carrying 4 marks should not exceed 60 — 80 words each.

(iii) Answer to questions carrying 6 marks should not exceed 100 — 125 words each.

(iv) Maps should be securely tied in the middle of the Answer-Book.

(v) Attempt all parts of a question together.

(vi) Stencils or templates for drawing outline maps may be used wherever necessary.

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %

(i) 2 vadksa okys izR;sd iz'u dk mÙkj 30 'kCnksa ls vf/kd u gksA

(ii) 4 vadksa okys izR;sd iz'u dk mÙkj 60 ls 80 'kCnksa ls vf/kd u gksA

(iii) 6 vadksa okys izR;sd iz'u dk mÙkj 100 ls 125 'kCnksa ls vf/kd u gksA

(iv) ekufp=kksa dks mÙkj&iqfLrdk dh chp esa etcwrh ls ckaf/k,A

(v) fdlh iz'u ds lHkh Hkkxksa ds mÙkj lkFk&lkFk nhft,A

(vi) tgk¡ dgha vko';d gks LVSaflyksa vFkok lkapksa dks js[kk&ekufp=k cukus ds fy, bLrseky fd;k tk

ldrk gSA

Roll No.

Series RKM Code  No. 32/1
Please check that this question paper contains 7 printed pages + 3 Maps.
Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.
Please check that this question paper contains 24 questions.

Please write down the serial number of the question before attempting it.

Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa eqfnzr i`"B 7 + 3 ekufp=k gSaA
iz'u&i=k esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk=k mÙkj&iqfLrdk ds eq[k&i`"B ij fy[ksaA
Ñi;k tk¡p dj ysa fd bl iz'u&i=k esa 24 iz'u gSaA
Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA

dksM ua-dksM ua-dksM ua-dksM ua-dksM ua-

jksy ua-
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1. State any two main objectives of the British Government to spread education in
India. 2×1=2

Hkkjr esa f'k{kk dk izlkj djus ds ihNs fczfV'k ljdkj ds fdUgha nks eq[; mís';ksa dk mYys[k
dhft,A

2. State two ways by which the Indian people reacted to the partition of Bengal by Lord
Curzon. 2×1=2

ykWMZ dtZu }kjk caxky foHkktu ij Hkkjrh; yksxksa }kjk O;ä dh xbZ nks izfrfØ;kvksa dk mYys[k
dhft,A

3. Write   two   points   of   distinction   between   renewable   resources   and   non-renewable

 resources. 2×1=2

uohdj.kh; lalk/kuksa vkSj vuohdj.kh; lalk/kuksa esa nks fcUnqvksa esa vUrj fyf[k,A

4. Which is the most important cereal crop in India ? Name the two major producing states
of  this crop. 1+1=2

Hkkjr esa lcls egÙoiw.kZ [kk|ké Qly dkSulh gS \ bl Qly ds nks izeq[k mRiknd jkT;ksa ds uke
crkb,A

5. Why is sustainable development essential for economic growth ? Give two reasons.2×1=2

vkfFkZd fodkl ds fy, lrr~ iks"k.kh; fodkl D;ksa vko';d gS \ nks dkj.k nhft,A

6. How does casteism create hindrance in our social development ? Explain any two points.2×1=2

gekjs lkekftd fodkl esa tkfrokn fdl izdkj ck/kk iSnk djrk gS \ fdUgha nks fcUnqvksa dks Li"V
dhft,A

7. Explain any two man-made factors responsible for landslides. 2×1=2

HkwL[kyu ds fy, mÙkjnk;h fdUgha nks ekuo&fufeZr dkjdksa dh O;k[;k dhft,A

8. Analyse any two situations because of which the European trading companies started
interfering in the political affairs of India in the eighteenth century. 2×1=2

fdUgha nks ifjfLFkfr;ksa dk fo'ys"k.k dhft, ftuds dkj.k ;wjksih; O;kikjh dEifu;ksa us vBkjgoha
'krkCnh esa Hkkjr ds jktuhfrd ekeyksa esa n[ky nsuk izkjEHk dj fn;kA
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9. Identify and name the Indian national leader shown in the picture given below. State
any two of  his contributions in promoting Indian Nationalism. 1+1=2

uhps nh xbZ rLohj esa Hkkjrh; jk"Vªh; usrk dks igpkfu, vkSj mudk uke fyf[k,A Hkkjrh; jk"Vªh;rk
dks c<+kok nsus esa muds fdUgha nks ;ksxnkuksa dk mYys[k dhft,A

Note : The following question is for the Blind Candidates only in lieu of Q.  No. 9.

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 9 ds LFkku ij gSA

State any two contributions of Surendra Nath Banerjee to promote Indian Nationalism.2×1=2
Hkkjrh; jk"Vªh;rk dks c<+kok nsus esa lqjsUnz ukFk cuthZ ds fdUgha nks ;ksxnkuksa dk mYys[k dhft,A

10. How can Indian agricultural products stand in the world market ? Suggest two ways in
this regard. 2×1=2

Hkkjrh; Ñf"k mRikn fo'o cktkj esa fdl izdkj fVd ldrs gSa \ bl lanHkZ esa nks mik; lq>kb,A

11. Identify the different thrust areas of human development. Which one of them plays the
most significant role in the development ? 1½+½=2

ekuo fodkl ij cy nsus okys fofHké {ks=kksa dh igpku dhft,A muesa ls dkSulk {ks=k fodkl esa lcls
vf/kd egÙoiw.kZ Hkwfedk fuHkkrk gS \

12. How will you help a person if you find him/her in a burnt state ? Suggest any two ways.2×1=2
;fn vkius fdlh tys gq, O;fä dks ns[kk gS rks ml voLFkk esa vki mldh fdl izdkj lgk;rk
djksxs \ dksbZ nks mik; lq>kb,A

13. In which two categories are minerals generally classified ? Give three characteristics of
each category. 1+1½+1½=4

lkekU;r% [kfutksa dks fdu nks oxks± esa ck¡Vk x;k gS \ izR;sd oxZ ds [kfutksa dh rhu&rhu fo'ks"krk,¡
nhft,A
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14. Describe any four privileges enjoyed by minority communities in India.  4×1=4

OR

State any eight steps which have been mentioned in the Indian Constitution to protect
the interests of Scheduled Castes and Scheduled Tribes. 8×½=4

Hkkjr esa vYila[;d leqnk;ksa }kjk mBk, tk jgs fdUgha pkj fo'ks"kkf/kdkfj;ksa dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

vuqlwfpr tkfr;ksa vkSj vuqlwfpr tutkfr;ksa ds fgrksa dh lqj{kk ds fy, Hkkjrh; lafo/kku esa 'kkfey

fdUgha vkB mik;ksa dk mYys[k dhft,A

15. Make the correct pairs from the two Columns A and B : 4×1=4
Column A Column B
(Author) (Works)

Somadeva Prithviraj Raso

Kalhana Gitagovinda

Jayadeva Rajataringini

Chandbardai Katha-Sarit-Sagar

                             OR
Explain any four contributions of Amir Khusrau. 4×1=4

uhps fn, x, nks LrEHkksa d vkSj [k ls lgh tksM+s cukb, %

LrHk d LrEHk [k

¼ys[kd½ ¼Ñfr½

lksenso i`Fohjkt jklks

dYg.k xhrxksfoUn

t;nso jktrjafxuh

pancjnkbZ dFkk&lfjr&lkxj

          vFkokvFkokvFkokvFkokvFkok

vehj [kqljks ds fdUgha pkj ;ksxnkuksa dks Li"V dhft,A

16. Explain any four factors which are responsible for decentralisation of cotton industry in
India. 4×1=4

OR

Explain any four measures to control air pollution created by industries in India. 4×1=4

Hkkjr esa lwrh&oL=k m|ksx ds fodsUnzhdj.k ds fy, mÙkjnk;h fdUgha pkj dkjdksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

Hkkjr esa m|ksxksa }kjk mRié ok;q iznw"k.k dks fu;af=kr djus okys fdUgha pkj mik;ksa dks Li"V dhft,A
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17. “Transport routes are called the basic arteries of our economy.” Support this statement
with four examples. 4×1=4

^^ifjogu ekxZ gekjh vFkZO;oLFkk dh vk/kkjHkwr /kefu;k¡ gSaA** bl dFku dh pkj mnkgj.kksa dh enn
ls iqf"V dhft,A

18. Explain the four measures taken by the Government of India to tackle the problem of
poverty. 4×1=4

Hkkjr ljdkj }kjk xjhch dh leL;k dks gy djus ds fy, mBk, x, pkj mik;ksa dh O;k[;k
dhft,A

19. How  did  Non-Aligned  Movement  (NAM)  come  into  existence   as  the  second  largest
political formation in the world ? Explain. 4

lalkj esa xqV&fujis{k vkanksyu (NAM) fdl izdkj nwljs lcls cM+s jktuhfrd laxBu ds :i esa vfLrRo
esa vk;k \ Li"V dhft,A

20. What should be the configuration and foundation of an earthquake-resistant building ?
Explain two points for each. 2+2=4

Hkwdai&jks/kh Hkou dh vkÑfr vkSj uhao dSlh gksuh pkfg, \ izR;sd ds fy, nks&nks fcUnq Li"V
dhft,A

21. State any six objectives of the ‘National Forest Policy’ regarding conservation of forests in
the country. 6×1=6

OR
Describe any six measures adopted for the conservation of water. 6×1=6

ns'k esa ouksa ds laj{k.k ds fy, ^jk"Vªh; ou uhfr* ds fdUgha N% mís';ksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

ty laj{k.k ds fy, viuk, x, fdUgha N% mik;ksa dk o.kZu dhft,A

22. State the two index numbers used to know the price rise. Describe the four steps taken
by the Government of India to control price rise. 2+4=6

OR
Describe any two features of each of the three strategies adopted by the Government to
protect the interests of the consumers. 3×2=6

ewY;&o`f) tkuus ds fy, iz;qä nks izdkj ds lwpdkadksa dk mYys[k dhft,A Hkkjr ljdkj }kjk
ewY;&o`f) dks fu;af=kr djus ds fy, mBk, x, pkj dneksa dk o.kZu dhft,A

vFkokvFkokvFkokvFkokvFkok

miHkksäkvksa ds fgrksa dh j{kk ds fy, ljdkj }kjk viuk, x, rhu izdkj ds mik;ksa dh fdUgha nks&nks
fo'ks"krkvksa dk o.kZu dhft,A
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23. Explain any six factors that contributed to the growth of Indian Nationalism during the
19th century. 6×1=6

OR
Explain any six points regarding the significance of the ‘Revolt’ of 1857. 6×1=6

méhloha lnh esa Hkkjrh; jk"Vªokn ds fodkl ds ;ksxnku nsus okys fdUgha N% dkjdksa dks Li"V dhft,A

vFkokvFkokvFkokvFkokvFkok

1857 ds ^egkfonzksg* ds egÙo ds lanHkZ esa fdUgha N% fcUnqvksa dh O;k[;k dhft,A

24. (a) (i) On the given political outline map of India (on page 9) the place is shown by
No. 1, where the resolution for complete independence was declared. Identify
and write the correct name of this place on the line drawn on the map.

(ii) On the same map of India (on page 9) shade and name the state where the
‘Gol Gumbaz’ is located. 1+1=2

(b) On the given political outline map of India (on page 11) are shown four
geographical features A, B, C and D. Identify these features with the help of the
map key and write their correct names on the line marked against each in the map.4×1=4

OR

On the given political outline map of India (on page 12) locate and label the following
geographical features : 4×1=4

(i) Pune — Cotton Textile Centre

(ii) Narimanam  — Oil Refinery

(iii) Rawatbhata — Nuclear Power Station

(iv) Vishakhapatnam — Sea-port

(v) (i) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 9 ij½ esa la[;k 1 }kjk ml LFkku dks
fn[kk;k x;k gS tgk¡ iw.kZ Lojkt ds izLrko dh ?kks"k.kk dh xbZ FkhA bl LFkku dh igpku
dhft, vkSj mldk lgh uke ekufp=k ij [khaph xbZ js[kk ij fyf[k,A

(ii) HkkjrHkkjrHkkjrHkkjrHkkjr ds blh ekufp=k ¼i`"B 9 ij½ esa ml jkT; dks Nk;kafdr dhft, vkSj mldk uke
fyf[k, tgk¡ ij ^xksy xqEct* fLFkr gSA

(c) fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 11 ij½ ij pkj HkkSxksfyd y{k.k d] [k] x vkSj
?k fn[kk, x, gSaA ekufp=k esa nh xbZ dqath dh enn ls bu y{k.kksa dks igpkfu, vkSj ekufp=k
esa izR;sd ds lkeus nh xbZ js[kk ij muds lgh uke fyf[k,A

vFkokvFkokvFkokvFkokvFkok

fn, x, HkkjrHkkjrHkkjrHkkjrHkkjr ds jktuhfrd js[kk&ekufp=k ¼i`"B 12 ij½ ij fuEufyf[kr HkkSxksfyd y{k.kksa dh
fLFkfr fn[kkb, vkSj muds uke fyf[k, %
(i) iq.ks — lwrh&oL=k dsUnz
(ii) ukjhekue — rsy ifj"dj.k'kkyk
(iii) jkorHkkVk — ukfHkdh; 'kfä dsUnz
(iv) fo'kk[kkiVue — leqnzh&iÙku
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Note : The following question is for the Blind Candidates only in lieu of Q.  No. 24
(a) and (b).

uksV %uksV %uksV %uksV %uksV % fuEufyf[kr iz'u dsoy n`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks an`f"Vghu ijh{kkfFkZ;ks a ds fy, iz'u la[;k 24 ¼v½ vkSj ¼c½ ds LFkku

ij gSA

(i) Name the place where the resolution for complete independence was declared.

(ii) In which state is ‘Gol Gumbaz’ situated ?

(iii) Which is the leading state in the production of rubber ?

(iv) Name the Northern Terminal Station of North-South Corridor.

(v) Name the international airport located in West Bengal.

(vi) Name the Software Technology Park located in Orissa. 6×1=6

(i) ml LFkku dk uke crkb, tgk¡ iw.kZ Lojkt ds izLrko dh ?kks"k.kk dh xbZ FkhA

(ii) ^xksy xqEct* fdl jkT; esa fLFkr gS \

(iii) jcj dh vxz.kh mRiknd jkT; dkSulk gS \

(iv) mÙkj&nf{k.k xfy;kjs ds mÙkjh vfUre LVs'ku dk uke crkb,A

(v) if'pe caxky esa fLFkr vUrjkZ"Vªh; ok;q&iÙku dk uke crkb,A

(vi) mM+hlk esa fLFkr lkW¶Vos;j izkS|ksfxdh ikdZ dk uke crkb,A
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